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Sample Paper – 2009
Class – X
Subject – MATHEMATICS

Time allowed: 3 hours






M.M.: 80

General Instructions:

a) All questions are compulsory.

b) The question paper consists of 30 questions divided into four sections A, B, C and D. Section A contains 10 questions of 1 mark each, section B contains 5 questions of 2 marks each, section C consists of 10 questions of 3 marks each and section D consists of 5 questions of 6 marks each.

c) In questions of geometry, the figures should be drawn neat and clean.

d) There is no overall choice, however internal choices have been provided in 1 question of 2 marks, 3 questions of 3 marks and 2 questions of 6 marks.

e) Use of calculator is not permitted.
SECTION-A
1. Without actually performing long division state which of these is going to give a Terminating/Non-terminating repeating decimal representation:
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2. Show that:
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3. Form a quadratic polynomial for which sum and product of zeroes is 4 and -2.
(1)

4. For what value of p will the equation
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have real and equal roots? (1)

5. For what value of m, the points
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are collinear.

(1)

6. In the adjoining figure, DE is parallel to BC. Find the value of ‘x’. (1)


7. A pendulum swings through an angle of 300 and describes an arc of 17.6cm in length. Find the length of the pendulum.


(1)
8. A spherical cannon ball, 28 cm in diameter is melted and cast into a right circular conical mould, the base of which is 35 cm in diameter. Find the height of the cone, correct to one place of decimal.



(1)

9. Which measure of central tendency is represented by the point on x-axis where the perpendicular from the intersection of the less than and more than ogive meet.
(1)

10. Find a point on y-axis equidistant from the (3, 6) and (-3, 4).
(1)
SECTION-B
11. Prove that:
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12. On dividing
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by a polynomial
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(2)

13. The diagonal of a rectangular field is 60meters more than the shorter side. If the longer side is 30meters more than the shorter side, find the sides of the field.


(2)

14. Find the area of the shaded region if PQ = 24 cm, PR = 7 cm and O is the centre of the circle. Triangle PQR is right angled at R. [image: image10.emf]

(2)

OR

In the given figure ABC is a right angled triangle, right angled at A. Semicircles are drawn on AB, AC and BC as diameters. Find the area of the shaded region. [image: image11.emf]
15. An AP consists of 50 terms of which 3rd term is 12 and the last term is 106. Find its 29th term.
(2)
SECTION-C
16. Show that
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17. Prove that:
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(3)

18. Represent the following equations on the same graph
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and find their point of intersection. Shade the region bounded by these lines and x-axis. Also find the area of this region. (3)

19. If
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are the vertices of a parallelogram taken in order, find the values of ‘x’ and ‘y’.



(3)

20. A(4,3), B(6,5) and C(5,-2) are the vertices of
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. Find the coordinates of the centroid G of
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. Find the area of 
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(3)

21. If the angles of one triangle are equal to that of another triangle then prove that the corresponding sides are in the same ratio as the corresponding medians.

(3)

22. From a point P, two tangents PA and PB are drawn to a circle with center O. If OP is equal to the diameter of the circle, prove that the triangle PAB is an equilateral triangle.
(3)



OR

In the given figure if XY and X’Y’ are two tangents parallel to a circle with centre O and another tangent AB with point of contact C intersects XY at A and X’Y’ at B. Prove that
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23. Draw a line segment AB=5cm. Taking A as centre, draw a circle of radius 2.5cm and taking B as centre, draw another circle of radius 1.8cm. Construct tangents to each circle from the centre of the other circle.


(3)

24. Eleven balls are serially numbered and placed in an urn. Find the probability that a ball drawn will be:






(3)

a. Odd numbered ball

b. Even numbered ball

c. Prime numbered

OR

 From a well shuffled pack of 52 cards all the face cards of spades are removed. One card is selected at random from the remaining find the probability that:

a. It is black face card.

b. A red face card

c. A black card

25. A person buys cash certificates of Rs.125. Thereafter every year he buys cash certificates of the value exceeding the previous year’s purchase by Rs.25. Find the total value of the certificates purchased by him in 20 years.
(3)
SECTION-D
26. The angles of elevation and depression of the top and bottom of a lighthouse from the top of a building 60m high are
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(6)

a. The difference between the heights of the lighthouse and the building.

b. Distance between the lighthouse and the building.

27. A motor boat takes 6 hours to cover 100km downstream and 30km upstream. If the boat goes 75km downstream and returns back to the starting point in 8hours, find the speed of the boat in still water and the speed of the stream.



(6)

OR

Out of the total number of Crane birds, one-fourth the number are moving about in lotus plants; 
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 coupled (along) with one-fourth as well as 7 times the square root of the total number, move on a hill; 56 birds remain in vakula trees. What is the total number of birds?

28. Prove that, in a right triangle, the square of the hypotenuse is equal to the sum of the squares of the other two sides. Using above result do the following: In a right angled triangle ABC, right angled at C, Q is a point on BC such that BQ: QC=3:2. Prove that
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OR

State and prove Basic Proportionality theorem. Using the above result show that if ABCD is a trapezium such that AB is parallel to CD and its diagonals intersect each other at O. Show that
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29. A tent is in the shape of a cylinder surmounted by a conical top. If the height and diameter of the cylindrical part are 2.1cm and 4m respectively, and the slant height of the top is 2.8m, find the area of the canvas used for making the tent. Find the cost of the canvas of the tent at the rate of Rs.500 per m2. Also find the volume of air present inside the tent.
(6)

30. If the mean of the following distribution is 50, find the value of missing frequency; further find the median and the mode of the resulting frequency distribution.

	CLASS
	0-20
	20-40
	40-60
	60-80
	80-100

	FREQUENCY
	17
	28
	32
	f1
	19
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